ARNTEREFSREHFEHT - AOKEFR

TR 264E5 8 KRG
IR26FE5AFKH BE BTA X
R g2 x g X5 T 5 £ B
BRAEEAO 26,957 34,759 37,193 71,952 BARAEEAO 26,937 34,763 37,183 71,946
NEAFRAO 178 217 238 455 NEAFRAO 188 227 238 465
RENTEAAO 27,135 34,976 37,431 72,407 RFENHTAO 27,125 34,990 37,421 72,411
ARAFEER#HE - AOSEEE (IBAEA) BRAGER#HE - AOKLFTER (IBMNBEHET)
TS 2 tEdEy 55 2 % : Tt £ BA % X f5 s 82 g 5 (&) (B#)
AT Hhis KRZEHET 1,068 1,415 1,391 2,806 T =] 249 297 336 633 X% HEE 5 % it X5 HHE B o8 S
- ; B R #his —

AR;EHhisg RNiE 796 902 930 1,832 . ¥ /N 121 160 170 330 WmE—TH 791 884 991 1,875 HLE—TH 14 24 17 41
BT 7 Hh g AHT TG 205 208 233 441 =H 114 147 162 309 m&-TH 557 669 749 1,418 HWMLUE=TH 0 0 0 0
LN b AHTER 884 1,008 1,062 2,070 A T S B 71 90 104 194 BE=TH 265 333 376 709 WILE=TH 0 0 0 0
TR #h i TR 1,025 1,250 1,394 2,644 2 KE 201 250 245 495 HMEmMTH 199 253 289 542 HILEMTHB 0 0 0 0
=/ Hhis B/E 475 557 606 1,163 EIEFE 18 27 27 54 HWMERTH 773 1,024 1,149 2,173 HWILERTHE 0 0 0 0

KA EE?E?IJ.I 193 223 266 489 FAFTHT 178 181 223 404 HMAEKRTH 89 119 122 241 HWILEARTHE 0 0 0 0
\Ba 103 158 155 313 FTET bz Hh#rET 127 141 159 300 WME+TH 185 251 268 519 HWWLUEETE 180 264 269 533

h i this iR 260 321 367 688 Jt T ET 132 177 167 344 HEE—TH 0 HILE/NTE 0 0 0 0

AR s FiRIL 93 108 139 247 FAHET 178 219 265 484 HEEZ-TH 232 320 322 642 HWILEATHE 0 0 0 0

KB 834 977 992 1,969 FaHET 16 22 29 51 HEE=TH 8 10 10 20 HLE+TE 33 47 54 101

itz FE #his dt2zE 440 506 518 1,024 = Hhis =a]:iy) 37 31 45 76 HEEMNTH 0 HLE+—TH 1 4 1 5
ot B st R M AR 160 194 191 385 ERHET 101 117 126 243 HEERTH 292 354 402 756 HWLE+=TH 0 0 0

i 187 211 235 446 % 80 77 107 184 HEEBNRTH 176 229 253 482 WWLUE+=TH 0 0 0 0

14 Hhis HE 2,859 3,533 3,944 7,477 R PG 138 153 190 343 HEEETH 345 400 450 850 INET 228 339 341 680

HE A HhIE HEE 1,685 2,074 2,296 4370 AR o EREE—TH 51 56 71 127 HEE/NTH 369 475 519 994 A&t 11,383 15,727 16,611 32,338
ERAE S RiE)IS1~4TH 772 971 1,081 2,052 ' BRER_TH 289 332 365 697 HESNTHE 263 286 340 626
IRz St Ki2)1485~9TH 1,498 2349 2357 4,706 ERE=TH 44 64 71 135 KzZN&—TH 331 405 453 858
M B & Hhig MEE 2,161 3,187 3,273 6,460 Rl 64 64 71 135 KENEZTH 95 118 131 249
M Hhig BxE 2,180 3,274 3,319 6,593 izt 36 24 39 63 RKEINE=ZTH 346 448 497 945
WL A s HWuE 228 339 341 680 it 39 51 57 108 RENE™TH 0
=1 18,106 23,765 25,090 48,855 SN 52 3R ER Hh s N E 59 57 63 120 RKEINERTH 244 411 395 806
- i INET 77 75 79 154 KZNEARTH 561 821 803 1,624 (FH)
BARAFREHE - AOSEETF (IHIWLHEET) 447 81 86 106 192 R2NEETH 330 507 521 1028 X4 ik 5 % s
LI 27 37 40 77 REZENE/INTH 363 610 638 1,248 EmxsE—TH 163 206 215 421
T s 4 Bk R i HE 8 % it HERE 103 108 125 233 RKZNEALTH 0 MEmE&E=TH 141 155 177 332
5 F st t#&H 180 255 303 558 fif] U 116 148 152 300 MREE—TH 486 749 719 1,468 EMEE=TH 140 158 179 337
m&H 411 577 597 1,174 AR 100 113 146 259 MWEEZTH 122 191 196 387 AL RN 115 131 149 280
dt T E fthisg dtFE 395 578 584 1,162 [iic] 45 52 56 108 MEE=TH 241 355 383 738 EMEERTHE 56 67 67 134
T E Hhig ﬁi% 657 888 909 1,797 R Hh iz B 33 39 41 80 WEEMTH 257 350 382 732 EmEE/RTEB 164 191 211 402
#$;% 60 62 88 150 ZE R 65 69 90 159 MRERTH 257 397 399 796 Emx&EtTH 148 184 209 393
=58 desal R 130 175 196 371 IhEF 72 83 98 181 MWRENTH 310 440 439 879 EmE&/\TH 184 222 240 462
BH 225 347 374 721 mp 36 47 53 100 WREETH 268 411 429 840 EmEEeETE 187 217 239 456
bl A e 45 45 71 116 IE<B et 37 41 46 87 WRE/NTH 220 294 326 620 EmxE+THE 181 212 236 448
A1 52 76 86 162 b= 36 41 46 87 wBxEE8—TH 264 319 320 639 mEmxEs+—TH 248 309 317 626
. LtI¥H2 131 161 212 373 B/ 13 17 18 35 WBES-TH 356 541 521 1,062 mEmEE+=TH 215 284 290 574
FIRdtERHhis +£ir3 75 103 130 233 K 5 6 5 11 BEE=TH 345 549 568 1,117 EmxE+=TH 154 183 204 387
+Ina 55 72 82 154 A/ 32 45 46 91 BESMNTH 272 420 445 865 mEmEE+mTH 123 155 180 335
+IB5 100 144 142 286 BT+ 21 29 27 56 BEAERTH 356 556 585 1,141 EmEE+ETH 137 185 170 355
i;:j 123 1;? 1:2 ?;; 4 2 ik :H:‘;:T: 15 21 22 43 HBEANTH 308 532 523 1,055 =51 2,356 2,859 3,083 5,942
% 9 13 11 24 BEAEEtTH 279 357 357 714
LIRmER iz LIAs8 95 126 124 250 =% 8 6 10 16 BEE/N\TH 0 0 0 0
i[9 111 136 154 290 R 6 6 5 11 INEE 11,155 15,388 16,270 31,658
+¥10 88 111 132 243 | 14 11 17 28
HE X4 26 25 23 48 P 31 45 51 96
SRR 5 5 6 11 A 48 57 80 137
ot =[=X)N 66 51 62 113 FnE A this mmnxs 2,356 2,859 3,083 5,942
=51 3,122 4,203 4558 8,761 &t 5,729 6,791 7,545 14,336




